TaIYehTA U - TG

T [Feral TG  FHegaAr -
TRl  ciedr egreiEiear # - sfd
FSUTYET caTIEAF: --

YSSISCH HTAREAT HuTgel FAee|
Tl TR Y-SRI 0T T |

31 FAFdH--
Wﬁm@mﬁmmmﬂwﬁ?ﬁm
yeveafel amear fAfsadad del

JaINE] --

e

[ Y IYEEITCHTATIETITY AT |

Tad GIGE! FIATATT AT (|ISTT: - AcTcA

da RAeusy R --
araeear Rafesr 34?—7-r|§qﬁ HTEId: || Thleg:, CUSTITT HeedTcdTdd

TcaRIAT HAOT FoeIqr T aRas |
3R AY el Taedrd o Iqdehd || ATHUST:

fesTeaaeareat wr--

Sam?iﬁmﬁrw’r geryeaiaeT fafd:|
TARA oTFd T, SHIAT AT Ic: || SITSTT: - PTG

giasTefoled &l HcAHTERATETH |
ITTAPITYRREAT AFIHIS TSR || FGALceH, TS

HToAhIHA = AT TRIA:

Confusion may be there if one follows - IMsHATH--
aIS FAAAIGEE HiChEadAsad .. itis related to HetATdeeaTIS |

kkkkkkkhkhkhhkkkkkkhkkkhkkkkkhhhhhhhhhkhkhkkhkkhkkkkkkhhhhhhhhhkhkkhkkkhkkkkkkhhhhhhhkkkhkkkkkhkkkkkkkkkkkkkkkk




In ATRIASTEHATH — SHicen JUH TR 3a# drfel
mmﬁ|mmmmmmﬁwmﬁn

HEURTE TEIg faar: -

ARIIASTEATTH - Fo: ( ITIEAFTIEIGAHA )- SAATH
Having completed SIE#, 3TUEAFS takes up JEIGAH -
Y FHHUIERIET TEged (1-1-1-1)

After SIEH, the FH-s which are known , such as 3ATETT etc - since they are
being performed (3TERTA)-- ATfeY CATEITEATH: STIAT:|

3CIAYAYETTE quATRY AT ( 1-1-1-2)

3CIRIAH = STRIYUTH; YAUETIET: = eForvaifceTel; JUaTeT: =quaeaTagad eIt (dY) -
(Mo = aaﬂaammmﬁ)m‘rw

All aqa+qqyd<[&¢lqwdfl-s have to be performed during - 3TTIVT-[FelTaT-qUITE |

What are quaTE-s -
dfedasEdaTH (1-5-3) -
TATAEITE T :95d gWTﬁr EESENT

e Gara:dcquy deieedg: (d §1-5-3)

The day time has to be divided into five parts (each 6 afear:) --

1.9Td:hTel: 2.H3TdehTol:3. AL TcaTohlol:4.3TUTEUThTl:5. TG - these five are
called QUITETAT: (cT&T0T) |

. §T (1-5-15,16,17) --- (each I&T7 has got an 31f&¢adr - just like a IE ) ---

1.8aEg FIAT:ITA:-JHS:HOT: - if §&cI, which is Gfddeadre is there in ITcT:alel that
day is called JuaTE |

2.TAIET HIE: --- HIRN( in Wl it is HIT only ) is fAFCETh - if it there in
Halgsre then that day is called JUaTE |

3 JFEIaHEL ST - TsT#lis FeEdiciaddren - if it is there in HEATegsTeprel that day is
called quaTE |




4 ITEITIRIEOT: -- jd{%(vdgo-l‘\lls e adIeh - if it is there in 3T9IgUTeRTAthen it is called
qouzllgl

5. FSUTETATIH-- ATIRT (AATHYER) is THUIGAAT - if it is there in ATIRTA then it is
called UITE |

wﬁmﬂﬁr in his commentary , viz m—@aﬂaﬂ explains that some scholars
following the i --

I SAALTATON| Y FHellcd JcehRT T | JUATE T F%e] (clsiT1-5-14) - said that
starting e till TIATAT the TTETITTOT are called l'-rU'éJET | (these H#+7-s are used

|nC|'U?3I'I%T:ﬂ€I?-I?=r)I

There is A¢ ("HeASTEHUAT: AGATHUIH - TIEAFTIRHATYT, STEAUT includes 3RO
and 39favd ) --

HeJHATIT provides the He3-s - one has to do H«IH of the meaning of the H« while
reciting the same.

SITEAUTH provides the T319T (hed) - the procedure .-

FHIATHA LI A HATOTI AN m&ﬁdqlsﬁmq - 3TTRUIRIOIGTEs]. The term &ed
- 3THIOT FHIOT GrE - not by chcq«qcmsom but by 3T RAPRBE AT --

Fed: sldchwudvlu-:u—qaqﬂ so Halis -

%) RIeq [ARN -HTSIRR - IEE.;,I“ )

SheqRMETHNas got four wings -~ FH - TEAGIH - THFAH - YoaqTH

Although the same #=4-s are employed - there is difference between #id®aand
TATASH -- | e IPTand fadmgetc.
Aapaiogcgergfafafearia-- siawaiiOrare said directly - Fc&T# - in 32|

TMEASH AT 3TAIAG I IMeJHATOTare to be known thru AR
(inference) -ie Sthru 3|

First it is IMedehal-s to be performed and then #id&#-s -- but first Hid&a-s are
explained and then only Tedeha-s - FcFaTHand then 3THTTH|

ged=rard | in his commentary called FAccadeel=# , explains this aspect --

I U HRIRIATAGTaIF AT AMEGTOT ATV Il T AT TUHH Isoq: 30T qd
AT AT A | chm&lﬁﬁ%ﬁqm l;rm:raqﬁ—m?r

L RE AR IEEIES I d{d-la-llldcdld AT caTed AT e |

S

mﬁ%r CRIGEIG ?I?'Qﬁa’a-‘am - 3RAAIATETLAH, 1-1-1;

dllde-IO'II'{IqUICQILQIO'IH -




T TATA e - Te - a8 HATvATT F&IURT TeAvicgeded |

o g IEfAcaTg: el IEAzId
IE J RONE IRTTTEY FAH - 144 — 6 , AT, R

So the same H=7s used in #ld®A as well as IJETHA -- let me give an easy
example --

we have AATLIIH (ATLGIH - also , ' ATLGCHT UT , IS ) — AHDBH and THHH

Both sH%H and THHH are used for TGITAYR, in order to thwart ATAGIY | For
general 2fed also one may do a regular 9RTIUTH ( my father used to do in the
morning and evening ).- ?‘I_?-'Clﬂ#rl

In a JTT, 577 is recited in &R on eighth day of 31faRTFH whereas TH®H is
recited for FATYRT on ninth day of 31faRTEH - stasaT|

On the same lines - in quITEaTdsTH, following 3T, ATIETHS ruled -- gruzrr%gr
HTATOT| So | said --
starting e till fam@T the Ca=TaTaTOare called JUITET: |( theseH=7-s are used

inw?ﬂ:[ﬂ

Since IETHIH, due to absence of 3TTR, does not mention JHTETATIOT, they are
not there in JUIATEATTH]|

About aeT&TATIOT and THETATIOT -
here - in si{dee - ATIT- 'STETTH’ means a AT ( pebble / gravel ) or SSEHT (brick) --

In AT, the F==-s are used in fifth layer (RAATATA: - the FGTACT is in the shape
of an eagle ) --

14 H=4T: for 14 bricks ( dfadrafadr, 4-4-10) -- i e from 90 to 103 bricks ---

[N

FlARHATTAT AT

Bricks 107 to 117 --

AT ARG .....
IR ATH T Saa|
JHALTIH means the brick of which I is the ¢adT]|

NON O

SRS ASN R ONTeTTa: Taeer: —




The seventh house in the horoscope (SITciehdsha / ST=HHUSe) is called STAFH and
it tells about the wife / husband ( their conjugal relation - aracae ) |

When you are checking the J9IdT / compatibility of bride and groom then you
should check whether there is w (native is HATSITTeI) -

if &t is there in 2/4/7/8/12 house from e13sTH / Tog / Ysh - then he / she has got

HA --
gol 7 I Uiy STAT ATSTH o |
0T AT G AT |

But in most of the cases the TEI;TTI?\TGF is nullified --

FAre AT TS o HAchoT: - SThIDH,

st will not hurt those who are born in his own houses — AY and af\aa; 3TALTAH —
FHY and FFEHTOT -- R, ey, #HeT ( houses of T and IF ) .

Any connection ( three kinds of TE=%T ) — %ol is associated with 3T in a single house
, or ol is swapped( Qﬁ‘cl?fl?-m ) or &t is aspected ( Tm‘%cf ) by % through any one

of 7th or 5th or 9th .

Also if both, the bride and groom, have got then also the W is nullified .

Come to the present question --

if QRO is the FA&T7H, the WA will be g - Wﬁwﬂ%ﬁlﬂ?ﬁmaw | h
is the 319t

Then STITAFH (seventh house) will be iR - its U being FoT |
So there will be disturbance in married life.
P, orfer, 19, efforaeg, g and argr -- are 9TYIIES .

Bonus Info -- .
While teaching IHTIUTH - one has to answer a question -- why HIdT was in oThr?

areHIfd indirectly provides the answer — I was born in #ehcaheldatd |

Experienced S3ifd¥ehs say -- there will be any one of the three results for one who
is born in SehehelIsTa -

~

fareT: (#RTA: ) / AYOTH ( Tyagaraja and a Prime Minister of India lost their wives
and another Prime Minister lost her husband )/élé!liilall

Sankaracarya's horoscope is different - he got =14 |



Ramayanam was authored in %H@?T -- there were seven planets only.

TfAs were there since time immemorial - one cannot say that 3f2s are not there in
dg - did he check all the 1130 em@s of dg (with I TATcTETH)?

kkkkkkkhhhhhhkkkhkkkhkkkhkhkhhhhhhhhhhkkhkkhkkhkkhkkhkhhhhhhhhhhhhkhkhkkhkkkhkkhkkhkhhhhhhhhhhhkhkkkhkkkkhkhhhhhhkkkkkkkkkk

It is 3TSHIAYUTH or SHIRIIUTH|
5 [ 5 A

grfereT -- a flat earthen plate/platter with rim in which sT@&I=a1feT are placed (to
sprout) during 39«1d+1H etc.

G -- a small g ( 3791 &el ) |
In SAFAYH -- 1 gfeehr = 24 minutes - 60 Gfchds = one day.
"< is an earthen pot with big mouth — EI;TST is an earthen pot with a narrow mouth .

. -- a vessel in which something is boiled (J:@_g: in Telugu ).

hhkkkhkhhhhhhhhhhhhhhhhhhhhhhhdhhdhdhddhhhhhhhdhhhhhhdhhdhhdhhrhhrhhdhhhhhdhdhdhdddhhrhhrhrdhrhdhhdddddisrs

JACCaAeaIATIgHIquaTtel HRIeadd -- STARITRSITAH - ¢3-¢
9 ~ ) C ) =~ ~
Here T STIST&TOT — TaEUTHT T HEUTAT 53 |

Similarly ,quaTfel means JUIeRATOT ( but not J4YUAH) - so how many JUIhATTOT
the native may perform can be predicted from q_dWWI

SARICTH - TTHHTTRIheathord] ---

H—cn?rfﬁawvmmqﬁ?ﬂ qﬁaﬁmﬁwﬁr ......

d(“-IUQIHCHId'CII*{Hrﬂd‘-I%I ..... 3-IO|C‘-|3-'CI<HICI||

Here 99T means JUIRIATIOT|
9 9

qUIREACHaaR means JUaUIshATaar
Some works say it is qwa:re:l‘rﬁ?r whereas other works say it is Clﬁ'Cl'U?IDT( of course it
is qclo-lo-cHthqurHj ——then we have to resort to qéﬁmmT

3fe SfRIf, 3re7fad STEMa - g, 3ifar WsfRie seonfa, sforra sisfReT aeomfa -

Pe) o
g I fased: +q|dn<-| —Smﬂﬁm:rrvml




(3Teet 3nfEedr Jregfeet anfeed; sifars ATy Wisel arafaa:)
Similarly - in SIfAYH also — JUIRRTTOT as well as ToT=HYUIH - both are THTITH

in I>THATIDRhcdH |

There is one point to be noted --

Both Jgoolidiehd of eNTETATRRIEIRT and STReATATHAH of HTdard say that the
siTdedshd (horoscope) is nothing but a chart / statement of 903 and 919 that
are earned by the native (horoscopee) during the earlier incarnations.

HIafATUg of HEdAIhT-

FAGH UG T Hehol IOHTISH|
g gar sifFa-cadmaras qrll
[BElGCACEIREIBEICIR G CEES O
STRFTATHTH of FHIfeieTd--
ARTIREATARIC A asTeTa) faearsiHT d87q: |
Il HEATAATIG R AT AYRIET: |

In both it is the CI'U?II?FH‘Iﬁr that is to be predicted from s7dH#TT , which is also called
HTATTH | The problem was only with T>THHATIHRhcaH |

Do 3mards like 3mfeee also refer to Uy as something related to past births only?
Yes it is the qadjsieHehcehe -- both CIU?IH and 9194, only, that is taken up by 3Tramaf: |

There is close relation between F&’Iﬁm{and deled (and 341??’?.\’) I

hell:

There are 16 &hell: in degHT: |

sieany (fra) tells 9radr (EIWTR?TSJT:IT{ 5-71) - earlier it was only the sixteenth sheflof
dogdl, that was a cause of worry (for having an inferior person, 214, as resort) and
now (with you) there are two --

mmmr%%ﬁmﬁamwmm%ﬁwﬁaﬁm |
ol T AT FllodadT Follad:caiTT Ahey T ATHIAT I

hifec#ciica# and AThiadlca# are applicable to both — Tegehell and |




The one that is on fIa’s head is M2 &l

Figurative usage of 132 Fell --

TAYTGHITT TSIl |
FAAIET FATOT Shell ATGlec WSMH| IESYIUH, HEAT229 , Wll12

el TG T IseNH -- afATSEATT:, 3726 - 2AT3; IHTEAT; ARSTTelhd etc .

31AT - is the name of the sixteenth shell of degHT -- this is according to a?ﬂﬁa%n—cr
(a work on SIIfAYe ) |

Under 37eqacaq( 9T ¥ 4-2-104 ) Patanjali says 3THT is an 37cdd (means Hg ) and
cJ4is the 9cIT -- both mfr and dog live together on this day .

In other words, the 15 salTs of Teg are the fafds — fTaf¥ means the distance
between 3@ and =g |

Holl d WS HET: (1FIUS: - RFaet:- 15) -- 3R:
Fell Y FANST (FATATSEI: - 198 ) - 3R

Hhell TRt RieareramTIH |

Qﬂ?‘«’ﬁ?‘fﬂﬂﬂ;\{-u HelelT HIAHATAA: || --- AT

el = ACHEAAAT: (TIME:) , TAET ( AecaiguaricsaegOas:, qr3-1-134) ,
|

*kkkkkkkkkkhkhkhkkkkkkkkhkhhhhkhkhkhkkkkkhhhhhhkhkhkhkkkkhkhhhhhkhkhkhkhkhkkkhhhhhhkhkhkhkhhkkkkkhhhkhkhkhhkhhhkkkhrkhhkirkx

FSUTISAE: - SAATH -- AfeHIRIer:
It is the former - E|§T;ﬁ‘f%*: —JH is elder brother of 21fa ---

FEUTISAG: -

[ o]

There are AGHAT: in FSURIE --
TGHA - T TdTHT: - YATASTdTHT:
AfTITgH: -

AATR TAT TR B ETTT a2

of Ty aT caRuT fETe: ||
AR TATHA: -
mmwmmaﬁl

S99




IHI § Tl TeBcadsigal 3ehd: |

AfTTca I THA: --

OSTTId T cdddlrélo-éllld?dl cﬂdllo-l gidr CE Gl
TchIATRE dsd-l{-dﬂ'll 3E] JIIIEITH qaa’mﬂmmll

So, since IH is depicted as the 31f8¢adT of 2, he is the elder brother of the
same.

SATAYH--

~

In TETATUE of Wﬁﬂﬂ , both the terms , 2Ifef and I# are shown as synonyms --

IO Hec: 2Ty o] H’éﬁﬂ?ﬁﬂﬂ%ﬂﬂ I

U: QAT TR chmwmladw a: 1
A<: --

JAT =TSN TS AT Flch AFHA Al |

RATIATI &I A TR A TOr FIH ||

IS GGl Sof IE F:Jcge: - both , father and son -- F0Tand H=HY|

Here both the brothers have got the same name .

A AT RIA ARG T3 -5ca#T: |Same name for adedt,who are

brothers.

Bonus Info ---

It is SANTAYH or STATH| Some people are using terms such as - SATASTH, which
are 3T4RIscs .

AT SATAYALS, FhTeS SANATALN --FETHTSTH under e ATedTTrehd — T I
6-3-78 |

srenfasaifavs --efaraed, dfadaafaydql
S 3¢ SAATH AT, TG |
Similarly, it is Gfaf¥& (one who learns / knows S3faw#) but not SAfasH etc.

(‘3ggFdlecliceh: a7 F 7-3-51 — SreTorgfaeleaar: gfaueledsdd #Igur does not
apply here).

kkkkkkkkkkkkkkkkkkkhkkkkkkkkkkkkkkkhkkhkkkkhkkkkkkkkkkkkkkkkhkkkkkkkkkkkkkkhkkkhkkkhkkkkkkkkkkkkhkkhkkkkkkkkkkkx
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How to decide whether it is ST=ATSCHT or STl or both and when to go for
39419 --

&d qaAHTCHE{eE SedT e seH

maﬁaﬁmmﬁml
oafareireraTeTer ot Teafed At a1 Wr

TeTiT STTecaUHER fcH e gaFed T

The Hiztrafesht of TaITT and 39T are two - it is JTERTT| In ATTUTAE if FHSUTSCHT
does not mix with AR it will be HSUMSCHT and it is ITATEANT |

The day on which the ST=HATSCHT spreads into 3181, it is 39ArAAA | Whether that
faf&r is touching both the 31¥RTs or not , the RTATT only is 3TaEIRT|

On the same 3TS¢HT, even if the GF’JFAT( ieqIfguf) is mixing by an atom , both
SI=ATSCHT and ST« will be on the same day . If they are not mixing then one

should go for 39dTH separately .
If it is not mixing with ATROM it is ST=ATSCHT whereas if it is mixing it is STTedl|

There is a chapter on =AU ( T5ATSITETD:) |

3 3 K 3k K kK K kK K K 3k K 3k K 3k K K K K 3k K 3K K 3k K K 3K K 3k K 3k K 3k 3K 3k 3K K 3k K 3k K 3k 3K 3k 3K Sk 3K K 3k K 3k K 3k 3k 3k 3k Sk ok ok 3k ok ok

There are nine 3gT: in SAfAYH]|

IE = 3UTETe (FATTS: - IEunfay ) - faeImsT I8 U13-1-143 , AR aT 397 - - ITE: - Tg: |
mﬁmﬁmm‘? ( crocodile) A - SATAT ( star or Sun etc) TF:|

ST means ' a fixed period of time ' .

AT T 38! ST T HGIGRA - Ao Hg - AR OTATATIA:’ T 6-3-45 , 3T

AgTose &g 3caH|

HETE2T - 3Todca - faeer - EHERIT - UG - these are the five g2Ts calculated in
SATdehEhes] | gRITH |

SATAYH (also called I1TOTAA due to too much of mathematics) is divided into three
[ oS
THAT: - - HEATheY: - STdhEhed: - U Thet: |

HGIGRIT is mostly used in SiTdehEhad, which is useful in predicting the fate of the
native ( horoscopee) taking the planetary line up ( it is nothing but a reflection of &a¥)
and the c2IT|

It is 120 years ( fa2iimRY) that is the total sum of the nine #FETELTs of the nine planets .

So, after completing half of the above period ,i e 60 years , people do qﬁn‘jﬁ -itisa
- to live happily for the rest of the half .
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Here is a panorama of the planets and their HgIGTs --

1.3fa: - 6 years
2. Teg: - 10
3. %0 -7
o)
4.7g:-18
o]
5.31%: - 16
S
6. erfel: - 19
7.9 - 17
o)
8. hd: -7
S
9. UYsh: -- 20
S

| have given the above list in the same order as it is calculated / followed in
SITdhEheeT |

Each #AgIGaMis divided into nine 37=d&2l is - and each 37=dca is divided into nine
fagers ( HE&HACSRTand YIVTERI are not being calculated nowadays) .

Just follow the calculation --

IST=de2l in TGHBIER ( also called TATedGalT ) -- 6x6 = 36 -- 3 months
and 18 days .

In the above number the last one is multiplied by 3 and they are days --
6x3=18 days . The earlier number / s denote months .

IRHBIGATAT I[Aecialll - 16x16 = 256 ( 25--6x3 ) - 2 years Tmonth 18
days .

In I3HBTER there will be the nine 37=dc s in the same order as above

I - Tog - ol - TG - I8 - AT - T - Fd - Ak
9 S S S 9 )
In each 3{=d<_M again there will be the fagers in the same order --

ATAHRTICATAT AT 2T AT -- A/ e/ 2, A/A/T, A/ /h
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In 95a189TH( Almanac / Calendar ) generally a chart of the &2Is - down to Tagers is
provided as a ready reckoner .

If a native wants to know as to what kind of fate is in store during RIShHGICRIT, the
SN (SASH is an YL, - 'gYGFclecllceh: AT does not apply) would give an
overall picture of the same.

If one wants for a period of a few years or so ,i e 3l=de2lT, or a few months | i e
facer, then the Astrologer would calculate accordingly .

STTATOTTH 378 RN —$aTacaiiar 10-21

AeTAToTH JTfArafa: it 3rgAT 3T ATad — TATEIY TUAY qTFITEATEROT
foate: |

U3 T SATGHAY FEORISAS --

TogHT AGTATONH FTUfA: T AT 31aq JTHTTe AT e HETA TITH
aﬂwqﬁmmﬁﬂ—cmr—dwéag—umml TG Y
FRTATOTARITAS 3¢ o AA|

37aT A&TAOT gfd: enefY 38T --

AR 2MAR: A&TALT: &TATHRY: -3 — fgaaan:-1
m—mquéﬁwmﬁvﬁaw%(maﬁw )|

Panini used the term'' H&i‘:ﬁ? in the sense of ' d&lalHqudlddraHI —FraﬁUT?Tq'?r:
lol: 4-2-3

N N\ [SRN : AN AN
crwﬁrq?ﬁa?aﬂﬁqwelsql gdd, del dcdaTehe] Shlcil AT |

qwmfﬁwagﬁrl HEATATEH Foregrsgonieid #me: |
Earlier Nagesa =g 19T TF QW AaT9cd, o q deHTd 3y |

FITIGTH: ( TEETT:6-22) also --
AGTAARTAGHGH Y SATSHA TegH7dT | a7 = 3RF=2e |
( TTOYAAT *FTHTOOTAT ScTieeT w157 Fehfdsira: fAufad:uss)

dRT = HIHAITETIH ; I1g: = FATTe: |

kkkkkkkkkkkkkkkkkkkkkhkkkkkkhkkkkkkhkkhkkkkhkkhkkkhkkkkhkkkkkkkkhkkkhkkkkkkkkkkkkhkkkhkkkhkkkkkkkkkkkkkhkkhkkkkkkkkkx
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It is difficult to offer a complete list of diseases of past, present and future. Rather, in

Rﬂﬁ"ﬂ?{ - details of different parts of body represented by different houses of
zodiac are provided . It is useful to predict as to which part of the body of a particular
native (horoscopee) will be affected - there may be a number of diseases associated
with a particular part of a body.

Similarly, information related to planets and their ' nature ' is also provided.

So , with the knowledge of3-1'|'{1ﬁ'c‘( coupled with SHNTAYH one can predict as to
what kind of health problem is in store for a person .

Depending on the calculations of CeMAY it is possible to give the exact time.

FITIEIGICT: ==

S

ﬁ??l?-m -3 (chest)
FHCH: gadH
g - 33T et

JAgPRehcd[daIUTH --

I - FARAfRcar

Togy: -- AAH ( TG AT HAGN ST - TeTGFAH)
pol: -- bones , surgical operation etc

?w - SRR, Fhetc

From the observation of vast population across the globe suffering from various
diseases - it is true, they are destined to suffer! Why? Because of their FA|

g d says one should consume all the six tastes till the end of his life - otherwise he
would get3-ﬂGI' &1 (AIDS) . Today Mexico , France, England etc have raised the tax
on Sugar (India is considering) - simply to prevent Hﬁgﬁ'@’!

Let me quote a poem from HTITIIH (5q\ld\\blldi) - | take the Telugu version as the
original is too brief / terse. All the terms are dcd#s and o /3¢I( plural) is added . This
is by a great poet called Potana of 15 th Century.

It explains , well in advance , the horrible situation of mankind in %ﬁ'g?T --

37er e Heege agdel eTRIIdel IR
chloldoi Hec o719 Ngao‘ﬁmﬂﬁ'zr

chqumo— ngg aMTgeTe] U"J&ﬁﬂéﬁt&ﬁ
aaag?[ Wenﬁm?h—qama‘u

(it is TFIRATT with Tl ToTo)
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39Ty - according to SAAYH is 30 yrs — 3T s less than 30 .
3IRPTHSRTIAT: = one does not know the causes of dreadful diseases.

what to do for FaHIEIH and 3TcAeNfed (=FeTeMled:)?

If %8 is not the cause then one may offer his own version!

kkkkkkkkkkkkkkkkkkkhkkhkkkkhkkkhkkkkkkkkhkkkkkkkkhkkkkkkkkkkkkkhkkkhkkkkkkkkkkkhkkkhkkkhkkkkkkkkkkkkkhkkhkkkkkkkkkx

As per the tradition , one should not perform Iga1q only - it should be followed by ST9
for 31R—I¢aar and Ycaf&icadr also - simply to please them too .

For every hundred IIlg#==s 4 or 5 for 31fI¢adr and Jcafeicaqr|

It is an order - just like - SEH=T (PRUTSEH) - SEAT (FTASEH /o ) - fasuy:
(Fafa:) - #gea: (&4:) and so on .

If you want the meaning — 31T means 31f®1ehT( Patanjali under FaRAATTEIHR: TRy
explains 31fI%:&R:31AHR:) - in day to day conversations also we say he is 3SR
- which means he has something more to do when compared with others. So 31ferehr

&adr rfaeadr|
JfEadrH sfagadr gfa gcafacadrl

Just try to understand one thlng Bhartrhari in Brahmakanda of Vakyapadlyam says
— REUITATY TaAel dGCATTHAYAHHA - even the knowledge of sages has got its roots
in Veda .So we have limited access to Vedas (only 12 Branches out of 1130).

HAAeTTcAdd 3fd He: |

While doing ST9 one should think the meaning of the #=F and then only it would be
fruitful.

AT = 7Y (Rarfe:) + 32 = urasy (3a1fe:)

Thinking per se cannot be termed as H#+7 - if such a usage is there then it is
o=@ ( shade of original meaning) .

Meditation is €3Te# in AT and ATGEITTAH in deled| € = RIed™IA is the root .
So while doing ST one should concentrate on the Gadl — €ITAH is TehdleAdl =
concentrating on a single thing .

7 G CATHAH — TRRGIA , 3-2 (T = AFFAT ) |
Tehdllelcdide o ATIearaaq<ad — Isdeel, 1-54 .

kkkkkkkkkhhhkkhkkkkkhkkkhkkhkhhhhhhhkhkhkkhkkkkhkkkkhkhhhhhhhkkkkkkkkhkkkkhhhhhhhhhkkkkkkkkkkhkkkkhkkkkkkkkkk
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It will take a lot of time and space to answer this question as many factors are
involved in deciding / fixing a 313\?—'“ | shall discuss a couple of things -

The question is related to el and HgTh=¥ of SAITH|

el (ﬂﬂﬁé or gﬂ&‘c‘r) runs for 48 minutes .
Let us take TaaTE#g -
1.37% - I - T=eRIef is important for faamgereia --

AT T&eelota faTg: AT :TH: |
AETH maannwfﬁu-emarér

For the bride the strength of §6€9Td is important, IS for aX and Tegee# for
both.

2. SfAAGINIITR: -
STfAFH means seventh house from ol3sTa.

ST GiaTae] ek IETaMoraaics: |
dTHATeAIATTd Tgred A IRae A |l

379T, Ml and 1A - all three said that STfAFH is of two types . Therefore, seventh
place from odeiH and deg, both have to be checked for %l?:ﬁT i.e., there should not

be any planet while fixing the T%IEIWE\T-TI

There is 3T9ATGMETHA for this, just like in SITRIUTH - if Tog is strong (3T, A&
etc) then the SITTAFGIY does not affect.

3.@-@—%@-3@@%--

Soldleehegdl: TGl arerd=a#|
agst [a8Td oo HEd IaTHSINT: || -- HAT: (STeTH = HoclHH) |

1,4,7 and 10 - houses from &13s1H are called Fegl:| 7" house is to be dropped due to
CNEEARN]

A strong g4, who is in %heg would kill 300 defects . RIsh in 1 or 4 houses would Kill
1000 defects EI%‘FCI‘% in 1,4, 10 houses would kill 100000 defects.

That's why there will not be Hgcts during J&HIGIH and YshHIGIH —HIGTH means
3TEAIACAGIY: - if 9% or {Ysh falls within 15 “raT: ( degrees) of TR then it is called
Higg# | Neither would have strength during this period.

4 SIATCINTAER: (S = 3TeTd aSeatd, HIFNET: - Sfdf) -
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Wﬂ%mﬁwmmﬁaa‘cﬁﬁal
{-I(‘k'RHd Id\dlch'{qﬁll “CthH 3HIad tﬂ% Il -- dlgddodH

~

Q- ot - 9% - A - these planets would effect ofdT to the sfaTIs at 12-3 -6 - 8
places , respectively .

EEGIE aamﬁrﬁ—qaﬁsﬁaﬁﬁamvml
Aol AT HATCEe el TEAT || - TTETTTH

Meaning is clear — FoT¥d $&H - ATYH:310T - I - AT - Fisl - S( Ezermny)
Again there are 21 HEIGINT: (HETAY AT etc) and many other things.
5.aNEfSehTorIoTH --

The fourth one from 3cJcld=# is called AR, whereas the seventh one is called
Mefehreraed - while three fourth of setting Sun remains - 2 afeet: from then
onward - is called eI fSehTerdet# - says ARG

SIARYCTY: TeT AT ol Flgeriersit|
der & Tdauiar ovet MRk LA - STAFAAE:

This is amamfr when the girl has to be married immediately due to some reason or
the other and there is no SIRIGT then people of all a0Ts can go for MM fdehrerasia |

*kkkkkkkkkkhkhkhkkkkkkkkhkhhhhkhkhkhkkkkkhhhhhhkhkhkhkkkkhkhhhhhkhkhkhkhkhkkkhhhhhhkhkhkhkhhkkkkkhhhkhkhkhhkhhhkkkhrkhhkirkx

The following quotation is from TATSIRR (D (TcTeqU>dTSIMHAERIB), 1941, a
Telugu treatise, which is compiled taking material from some dT@UFAYs of FATATH
and STHRFH --

I $7deg:@ avAnT J givced|
ORe TTeeTel = RIge gafSeahcll
e et o Al quithere |
QLI T T FeI  groeehel
ST faeer T O fogegag 134l
Ayt giSeaTer: FATGHTHRIETIEaRI I

HTGAT: 3TATIAL — ST HIeg:TH , Jeclt gieearer: Frd|

When Ravi enters 311‘;{‘!?&1‘:!?? in STAYT then there will be 4:@H (to all people) and
when he enters the same star in E\Ylﬁf then there will not be rain (drought)
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fa + 31fa + ura: — T is Ttea, thenﬂ?ﬁ?&ﬂﬁﬁﬂﬂ@wwq(éﬁ —xfa
will become 37l -- eI |

kkkkkkkkkkkkkkkkkkkkkkkkkkkkkhkkkkkkkkkkkkkkkkkkkkkkkkkhkkkhkkkkkkkkkkkkhkkkhkkkhkkkkkkkkkkkkhkkhkkhkkkkkkkkk

RIBfART: R:heree TgFAdl - TdeTa-Tuc AT "QreriaTeahsurGard:"
fohedq deral "Refa” G I, 37T RO F2 FASGNaBf T
R:w: / Row: | Rsw: (2) —

SANATH ( TR ERY:) - SATRIUTH - FATSHINT | AT AT

Please always quote the source clearly and check for errors (FFFddTe] not *BIEREICE

) |
In Fgcafedr, RBART praises Ta=a{0sds --

FoleoT f§ IarEay FF-ge AATAS THAH|
e qeaied foh qdataegast: Il -

This is the evidence to show that SRTBATRI™RT was closely in association with
IJTIras.
In HTETEATT of Fwailclehd (20-3), TATEIER pens this T Tdelena -

NI aRera Hear gasar
TaelTcHal [eeTar fAseretored|
eraf wﬁw&m@%ﬁﬁﬂﬁr@
CIE HH-IdHo-ICIIo-‘-IIdd{-d R

adselt qieregEl o - SaAT: | TAcadSITAHEANATE: — ATE:-1 ( borrowed from
aTeHf - amv‘s' );

HE = FCqHEATTEY; fereter = srereaeed; s = fiaefte:; f =
ATHEATS; ... e - "HSANOG:'IT F; W = SAATATH; o1 = TIERIETE; Rt =
aaw:m:eﬂ?n

All calculations are from ol3sTH — if I is in -- seventh house then the native would
receive insults from ladies, eighth house - less number of children and poor sight,
ninth house - there will be good children , wealth and comfort , tenth house - comfort
and valour , eleventh house - a lot of wealth , twelfth house - downfall from all
Karmas .

NW%EI'U‘%’ of Wﬁw records --

cargeecdr egar Row: 3maiFeiarqasia: |
aﬁrvﬁamfrmeﬁaqm’rzraaﬁarma I

CaIGeT: - 3ecy: - SF: - NO: - HTIEFelld: - 3TId3Neh: - ATTEIUT: - #Aeh: - T2 - - these
are the TATTs of GATGLAHTE ( twelfth house from TaeTa)|
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In &TTITS there is one root Rt = Shcdsgetria-argdery (defe:) - Rwfd, RYw
(ﬂ@ﬁ?[) here Tarisays — e 3fa af&sr |

aTHe ( JTACHINGY) says — RIGIE! U1y o T3, hived 3IgIa=Ad - 3fd| Here
ISR says — é?f‘aﬁ—aﬁalﬁrqaqﬁfﬁ

So those two are also there — fir{r o faur Aafash Refeal

There is the ATOIfAEAH - ATETCABI-dEdT (1-2-23)

&fTEar#T remarks ( and this is taken by many including $/€efSIEIaTd in MeA=RAT) -
arS' Y ATTHSRIT HEATH Y HIgd: |
 feer: 7 ST frardrecae aa#l

Although we take that R is there in &TqUTS, it is difficult to get the form — R:% and
better to accept it as a IdAHIVIRc | There are other such AUqegs and we have
discussed this earlier.

It may be noted that RTTATEITETY, in his geollded, clearly says that the AITHIOT:
| FATGT: | AATRART: / deTiedeT:etc had mlserably failed in STd®EHY / gRIEHY

and for them he is writing this work --

 RUE R AR B R MBRIINE T E )
amrawﬁﬁqagarer@qw&wﬁl

6I{Ido-:ld-|6IUICIHd{UI
o aafaﬁaﬂ‘eﬁa's’ar QEATTd YR || JEoolldh1-2

TV -

&7 AETRTUCAR o147 ¥l T |
I&T STRTT ekl Telal o SAAwe|

kkkkkkkkkkkkkkkkkkkhkkkkkkhkkkkkkkkkkkkkkkkhkkkhkkkkkkkkkkkkhkkkhkkkhkkkkkkkkkkkkhkkkhkkkhkkhkhkkkkkkkkkhkkkhkkkhhkhkkkkkkkk

EAATERAUI: — § and 3T are not counted for obvious reasons.

Nevertheless ---

daTeRIehIeET T HUSTOR] U - SAfAwE: (this is the work from which
QIFTW is built )

FHIT: = TR, AT = JrgTtaraa|
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SATdehdlegaT - recommends ATeT ( ATAT / JATAdT / ATALEI: - ATAALT / ATALEL /
HATeac ) for 3aTII=RoH (5 ) -

This is not there in either ﬂ@maﬁv‘s' or Hoﬁéi%lo-alﬂiﬁl - both say --- in &fdcarai-s

take the first one.

In %Fltl'c'ﬂ?h?:r T is not there — then HETATAIUS says take the HAOT (JeIFIIT e
HAUTH T )

So when a name with the same @uT is not available then go for a HGUT-- this
is JNUTTET: (in the present case we do not have strong defence — 3MuT9eT is also
extended.

This year 34Teh# (for starting 3&TeaI#) is fixed on3TSTGYIUTAT instead of the
common HTAUTYOTAT - why?

Because the HTIHI, i e &lmvmfﬁimfalls in %Mﬁmﬂ --19-7-2019 to
16-9-2019 (YTIEATAa: Ah:) --

HigT# or as it is called technically - 3 Ed39TdcagIy: (7% / >sh falls within 15 ATT-s
| degrees of I ) -

according toRITEFH - I[% / §gTUfd thwarts one lakh 2I¥-s whereas [, ten
thousand Therefore there cannot be any ?HE\?‘[ even 34U etc. durlng Alead
I

So the E&rT=dI has gone for NUTehIe,i e HTIGYTOTAT ( my &lfg=, ALY is going to
undergo 3uTeaT ) .

Even in other /MEF-s we come across such examples --

gehl JUTTA (4T ) -- strictly speaking - there are no examples for & -- "daeshR:’ (
your nose ) - is an example from IESYITUTH (ETTA: 204 L&T: 3) --

TR T daeshRR: ... (Your nose is suffering from common cold).
*kkkkkkkkhkkkkhkkkkkkkhkkkkhkkkkhkhkkhkkkhkhkhkhkkhkkhkkhkkhkkhkkhkkhhkhkkhkkhkkkkhkkhkhkhkkhkkkkhkkkkhkhkkkkkkhkkkkhkkkkkkkhkkkhkkkkhkkkkkkkkkkkkkk

Jo g I gUTH---

Penumbral Eclipse (dTf&1haIgUTH ) is not always considered as TEUTH

This year we have only one - (dT{&1h-) H(:éﬁ?J%UTH on 21 Jun 2020 —
c&uodgdmldlwl HITATER: -

and on that day there will be TATA-STI-AUUT-EATGI T oA A e TOT |
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Penumbral reeeT Ard: YU d€T HHATEA:SIT Fhedl , AN Iehor
UeTecRTIeTaT 3#Aa Menafefaes: safefa araasaor urfersargor fafa wdighds|
o J RaArde| olifheneree:a J IR |

ey 3 fAugarsas — TSTqeY:3fd AT dhicdshcds TT:JeW: " 3fd
JFIATT dea| afET|

HOeATRIRR "39cd GEvfa ai=a a1 g scarie aient¥es a=s| 3T J o
CIEE:]

3T SATSHAET IFATGIEAAT Ao Tgaed e FITEUIA (21/6/2020) .
fATReRrTTOT HiasTfed|

fae: —-

&Y dafeviiad gguifafa aq . Ifce>adq s agu 'sfa Rigurea:
S| e o afofagEdaag - sgdaara: |

MAYAIT ATdctdeg e Hlfecgleldl Hoeal| Alchi>ueadsl ' J Adrlc| deHTes
TeuTAfd Safafesisota:|

3 3 K 3k 3K 3k 3Kk 3k Sk 3k K Sk K 3k 3K Sk 3K 3k 3k K Sk 3K 3k 3K 3k 3k Sk 3k K Sk 3K 3k 3K Sk 3k 3k 3k Sk 3k K 3k 3K 3k 3K Sk 3k K 3k K 3k K 3k 3k 3k 3k Sk ok ok ok ok k

SATAYH - AET39TH -- Why ITdT was in Rl ?---
Among the 3137Ts (limbs) of AGU®Y ,SAITAYH is considered as a3H - ATV
3T T&T: (ATOTATRAET) ?a’l%rsrﬁmgwﬁr (TRITTec’ ) |

The complete set of dgs (1130 MA@Ts) is not available. In the available Vedic
literature there are references to SATAYH (limited survey) -

1. afedaafayd - Rerace --
FUTASINATH| ST HMETSTRETH | HT-HE: | oG- HetlleTd |
scafasaifaye]|

2. FEURGSIIE: - HISHHTI:(STEHVTH) - SAATUTS: — HAT 14 AT Tl ... -

--W@Hﬁ’?ﬂ’fﬁﬁ?ﬁ:l UY I73: 1129 ... UY g9 " STATET: | UY HIET: | 372 TSTg |
HTeTSeIH 3T TaoTh: Foafdedace] 3id| UY Ud o] UY &3d o Feishdd: | TY
Fd: | 30 TY HACHR: |37 TeTe | Selil delafc | U gdd dageiet Hgd:| ... 31
... ATBRASATTAATES T | T T4 dg| 39 more....

3. FeUrgSIde TgTfeenfdd==r:( for all nine planets) - AARTIEY --
AT TATRERIRDrr eI A |27 ATl AT ca T IYTEAL: | -~ ATAAGH: |
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AT T Gold TATT gl B1d: 1IHI & T et oGl IRehel: | -

S99

NEDIBECRIECER

IS o caGcllede-ANaRaT STl TR §87d | TcehlATE o‘lsd-l{-dc-c-ll 3E] JIIIEITH

gqar T | -- gt adret: |

One has to note one thing - roots of d¢s9Ts are given in dg in a very brief manner (
377 QfY&TT SITEIATETH: etc) . We have to depend upon the d&r39Ts that are made
available in a much elaborated form (PI refer to my Articles on Vedangas at
http;//ancientindianwisdom.com).

We accept A8 without reservations --

dolKRUdend - APUTIITSh:-31 ---

zrmstrum:zraﬂfrw | AYTOGYTEHRAT: | T AT STaAT: |l quchNc\urdl
WW@T |

Now --aifdse consists of three ThYs - Hg\d{-cl'w-‘i-l STdhEhed: ( ERITHY: -
gRT is from 3-1?1?1‘:[ explains Varahamihira et al) and N-Id.illo-d{-cho-‘a I

Some scholars are of the opinion that STdsER«4 (also called Bitd=TAYA) is not
a part and parcel of STAYH]| If one considers the FdI&H=4T: and the rush of
people in getting the package ( Tg-3fACTdT-Ica&cadr- 19:, 6000 for I for six
years of period and so on ,1/10 AYTTH , 1/100 gYH: , STEHUTHISTH TATIRFT for eMied)

- that has been there since time immemorial - and increasing day by day - how can
he just brush aside the SITdh¥ahasT ?

Remember, it is 2Mfed (reduces the degree of the impact) and not faaRoT|
BRI A TdehoTdeh

arSfed qarRauTedrd|

TSl e T

IIET ufed FAAIATFTN| - FeooTidns of AEATT - 1-3

qUg aTeFY YMIEIATY a7 Aol JTI8Td - ST TH |

How come very recently a number of (35) ltalians came to #&T@gied (Andhra
Padesh) and got the 2mfed performed for STEAYART? This is just one instance.

How can one refute the words of F&¥s like 3T, SRR, AR etc

Let us take up the following questions --

1.Why HTdT was in efe1? Did are#ifeh provide any answer for this question? If yes
then why the scholars, for hundreds of years, have not been giving the information to
the devotees before starting the Ja<1H?

2.Why /e did not get married? Shouldn't the 1% explain before he started -

JSACEATII A2

S


http://ancientindianwisdom.com/
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3.Why one Indian Prime Minister lost his wife?
4. Why another Prime Minister of India lost her husband?
People born in Seheameldsid would face any one of the following —

Separation with spouse — death of spouse — spouse would have some chronic
disease .

So AR got separation with HIdT | Indian Prime Ministers lost their spouses .

Samkaracarya’s case is different — due to the strength of T=aTfaafa |, 3T is
destined to get HeT |

We believe more in 3faRST[&RISIURFR rather than anything else. F =
IS |



